wré:lm ﬁiﬁmm (H Umt)
formae : 2020-2021 [Set Code - A|

e Al

A. afits (oe fSwe W HEene o¥S gty |
B. «ftE eem (see Il YRS aE Bftee |
C. ot comem (o7 WMl HEET oFS SRCSE |
D. ¢fits oo fEes szt H3e 4w TarefeEy |

1. “afits com Bww Wl vRes owe QeSO

: 2020-2021 (247}

05. ‘wegz g A§Ruem

AS+T+9+7 B.5%+9+79

C. 9% + 93 D. 9% + 93
YT : ISy v AT :
qE Y | AGEAWEN | eWEWW | G
Ere W+ g | IGAG | 4r6e 4+ e
e fHg + W= e s + o=
B s + TR wEE wES + Y
Ans: C.

06. The spelling of which word is not correct?

[T AR - tﬁmmﬁv_vwwﬁ
RIARE SIS e 373, mmm| -
9 : W N TAGS & | : :
R oz orm g 4
Femwen e
Ans : A,
03. fise @l feie Fe el

i-..

A, =7 B. 798 C. 7a% D. sw=s
e T
& + O = T
/& + /S = WY | 0+ =R
W+ 9% =J5F
Al + S = #49
8/@ + G/ =YW | TN + WS = RS
7 + &% = si91fA
= + T = S
o + Tp = (2p
et e wafh T B
e + &% = Tée
Ans: C en S
04. “7g" == fse @i “tvm Refie
A. @@ By *© C.f§ D. &ifs
AN : TS =R [AAS 1 ¢
ATEW | OIS 7W | emeew | (Ao
] o e (Y
=] T T ST
i weif WAL foem

Ans: B.

Tt : ISR AR Y ' TS W A. promissuous B. carboniferous
Y C. dilemma D. disharmony
aTe (oo oo STl OTTE (A (TSR A W pmmimgmqmw]
RO ST ZRCSEA | | 7R 2w fve | t Correct ik,
FR W et | TR AW FeoM | ﬁa:rasite, - A Latchet, Ligieon.
R A T W | e ReEE 7d | || | [ Mileage, Mutineer i _
4RI @R TR UM (T FA? * P
i I ATeferm 3o, e | Wi 4% e Tom, O | m - . 1o bl
Ao e o Ry | e forets etrrers v ety | ATl
02. R “TEe” iviv Twor- o1 FrTE A RefS? C.at - D.on
A. sfez Aol B. ST et W1 : Rule-1 : = g Bo( 1S on 707 |
C. e sl D. it % Rule-2 : ff# = 21 2= Jicaa «ftf on 201 ¢

Rule-3 : ffi s qace on 21|
Rule-4 : 77 T31C® on TC1(

Rﬂ&i%ﬁmmml & et
Am h. “" g f 5
. The terrorlsts killed the guard
A. In the wood B. Over the wood
C. In cold blood D. On the tray
W:Inooadblood mml ¥ 2

Ans: C.

09. The word ‘bright’ in the sentence ‘it was bright,
sunny morning’ is -
A. verb
C. noun

fon s

B. adverb

D. adjective

T[T : Be verb 97 A AR adjective TR MW
WRH adjective + noun ¥ | ;

—» It was bright, sunny morning.

@A, m(be}+bushtfads)+mhs£ﬂml

He is cnreless ____his health.
A. of or about B. over or about
C. of or at D. on or of

[T : mﬂmmmm et‘lmhwt
IR FA AW |

He is careless of/about his health. - mmﬁ*

5 An
| A=

Ans : A,




m Shakespean is a great "dramanst” The under-
lined/quoted word is-
A. Proper noun B. Abstract noun
C. Collective noun D. Common noun
I - Common noun (®if®3IB+ Rew): @ noun =t
932 we @ UfE, 38, 1 9fe R ww W R o
HEW AP GINY AW TR common noun I |
@4 dramatist 9191 799 FOTFRAEE 3T |
Ans: D.
12. Spelling of which word is not correct?
A. prisoner B. delibaretion
C. remorse D. calmness
Mt : Correctly spelled word : Deliberation - (8w, 55gr)
Some Important Correct Spellings:
Dalliance, Deity, D:mse, Deﬁmnm, D
Ans: B. AP
13. Identify the word which remains the same in its
plural form:

A. intention B. aircraft
C. mouse D. thesis
F[RT
Singular Plural
Intention Intentions
Aircraft Aircraft
Mouse Mice
Thesis Theses
Ans : B.

14. Identify the imperative sentence -
A. I shall go to university
B. She is singing a song
C. Stand up
D. Alas! I am undone.
M : Imperative sentence (SHEPPE IW): @
sentence WRT WEWM, TowAM A SHAY TAW OLF
Imperative sentence 3 | Imperauve sentence AYRTS
main verb e eF & | _
=: Come here, Go out, Do not tell a lie, Get out etc.
Ans : C.

Find out the correct sentence-

A. It is raining from morning

B. It has been drizzling since morning

C. It has been raining from morning

D. It is drizzling since morning
Nt < R afE T g3me 2 since W for I9%® W
©&A sentence f5t# present perfect continuous tense
Fqre 70 | AR SWmE (W since @3 SRR G oW
for Tja%s = |
wdre- It has been drizzling since morning - 3w (3
ofoefl 38 T |
Ans: B.

: 2020-2021 (248)

16. e SRweer I Y Afve | e v 3 v | fw
w5t 10 ms"WWWWWWIWWT@
@ flomt) w3e 3T BT oW oM 45° @A ofewE |
HAEHER @ FS?

A. 6 ms™ B. 8ms™
C.10 ms™ D. 12 ms™
k
[T : tands° = 10 :
v :
10
3 it AA
tan45°
~v=10ms"
Ans : C. E
17. P sifiea S Redt 201 G 571 AR TG 904 O TR?
A, R B. wtd=
B - v = vy’ 285, = 0= v, - 2a,
e
5= “‘:L
2
SRE, V= (2v0)’ — 25,25 0 = 4v, — 2as,
< lphee 4v—=45|
2a

Here, mmﬂmm‘mmmm4m
TSR | 3t
Ans: D.

18. GG 4103 &1 & TP A -ﬁ%awewﬂﬁuﬂm
SRR oy e e T e ok wiewte k-

A, feed B. ¥+
C. wiés D. nﬂa-wvﬁz'i
T ¢ :
GM,, (3»<2M,a M, 1 GM, 1
Gt 2=_x 2 5 e
R, (21(2) 412{e 4 TR g
Ans: C. :

19. fwsa ol 77 77
A. G 93 7 987 o33 Oo1 fda s
B. G 93 9IF 935 (I3 389 argd Oo e s
C. G @a %M 6.657 x 107" Nm’kg ™
D. 74 &b 7oy

TN : TSN $4F: GFF OFA G0 W OFF GA0G (AF
(A A ATRE WP I OF TAEL GHAY IS I |
G €3 9 6.673 x 107" Nm’kg™? |

. 'G'awmmﬁ't

_IMLT?)x[1?)

Ta@r: G= 3
[M7]

[L’M’T‘“]

m;m;
G @z W@ [L°M T
3% : S o&fers G @7 @@ Nm’kg
Ans: C.




20. wﬂwmﬂmlszmsammw-
A F2:3 B.1:4:9
€15 3 9 Do 1:9%S

TN - “IP8 T GO W : 3 T (R < T 198 7W

ﬁﬁwawwﬁmmmammm|

s, ST 7Y oo (et = h o :

mﬁw«ﬂwmmgahamw

TEAE-1:4:9

Ans : B. ’

21. 64 o 5 ot TG FNCE AT S | ST e
FIE aaly et o 7 s @ @iET 9 W ofs
oS 4 T 36 Terly 31 | 2w 1 woreR TG TS
A.252Hz B.272Hz C.292Hz D. 300 Hz

I : 4, AeEfbr Fm =n

T (EfeE % = 2n

mmﬁzqmwmwm4m
R M =n+4=n+Q2-14

m@ummm n+8=n+@3-1)}4
mwmm =n+12=n+(4-1)4

S 4TI R IMME =0+ (64— 1)4
m.n+(64—l)4=2n:=>n=2521{z

Ans : A,

BB 27°C SR s v SR o 2 1 v e Ty

L AT e || [T
[20. SoeirT 103 BT 1< 2< 2 aurm mermrerre. | B o e e

b tgfes Rom 220 V R AMEH o 20 w1 @
0.2 s Rge gzt =@ | @3 250 W a7 B obs
GFE A 4LA O I I WA TS I SO T |
@ =% T Far

A.fofe B. =
C. AeBTterg D. A < B @it1f6% 71
YT+ Hygester = VIt = 220 x 0.2 x 20 % 60 x 60
=31.68 x10°J
Hry=Pt=250 x 20 x 60 x 60 = 18 x 10°J
wdfie, % @6 @ e am Tam
Ans: A,
26. =iy} gorwm Fohw 0E JB N Ol -
cx B Mmrz: B. B =, N2r
I/2na D. B = [1,IN/2n
wmmﬂa&@mmm

w2, B= .EQI— i g ¥ jﬂ

wmwmwmm B=Eg;@

M—-
p «fam mmﬂmﬂﬁm 30 cms 20 cm |
oo TITT AR 1.52 T, <@ R VY 07

A -23.1cm B. 2431 cm
A.1200K B.1050K C.1300K D. 1350 K C.23.1 cm D. —24.31 cm
2 2 L. (S St
o G BT (G (25 w=--w>[—--——‘-
C! TI. T; Cl \ Cl A 17 I ,_; 5 F T T
o Ta=4x (27 +273)=1200K g S il el A AL
Ans : A _ P f (ho2 l) -30 20/
BY 0°C & 100°C wrram <3P Gy <D T p 30.430)
11 Qs 16 Q | wfEBRM =i prm wawm gors aew '=~>"?"“—“-0-52£wJ '
Y *ihem TR 36 (2 | SR RO Ay = | T
A.20°C _ B.500°C  C.250°C D, 10°C - s OV SSb g
R,-R 36-11 : 0524305584 + ;
-w=T=R’ R°xN Y] x100°C Ans : A,
R 2 21 smmwﬁwmmmuoacmmm
—?xlﬂﬂ"C 500°C Nﬁmlﬂﬁﬂmﬁzﬂ'lcmmmmm
T | ST S |
Ans : B. A. 2500 A B. 5000 A
24, +1pC @3 —1uC 54F 9 5 cm I @ a3 C. 6000 A D. 7500 A
i fRwe 97 32 T | 9% Ror W% WA 15 cm AD
R I =i Reqre ige ey fAdfy W’X-%=(ﬂ"‘l)T
A. 6 x 10* volt B. 4 x 10* volt ol &
C. 2 x 10" volt D. 9 x 10* volt =>10*2=(3+_l)x—-—-—_f—_—2_'
? 2q¢ 0.03x107°
[t : V = == w1072 w102 N
4}.”5“ 1‘2 41:60 rz = 0.03x107" %10 b =P VR TGS
i 1.5x4
__1x107%x5x107? -8 16
4ne, x (15%1072)° =5000%10""m
= 19972.33 volt ~2 x 10* volt = 5000 A
Ans: C Ans: B.




W o e Sl o o
TRt F=ives e it st sfads Rott 3@

Kl oft S Grfortem TP an 200 Q | gR 2R Iy= 30 pA
ARET T, AT S RRET 3.0 mA W | R FrReSER
oTre @R, Ry =5 kQ &, wniremmids corbe e se zar
A. 1250 . B.2500
C. 4000 ~ D. 5000

2 2
me |, G Y e

y—-1 2 2

A.(8,5) B.(-6,3)
C.(-8,5) D. (6, 3)




36. f(x) = x (22~ x) &% 7L T Fer | 41 2P, = 2x P,z n v e
A a B. 2a
A.8 B. 4 :
C.af D. 2a’ &2

314 31) o vt coter

A. :t%(l—i) B. i—;-(m)

€ i-;-(lmﬁi) D i%(h-ﬁi)

38. OPGEE VAT 0 TS 9 1 MM ATF | T Sre =T
dRTemef 7 wwRfE @, o s Fesl GRTew
HEAM A W

A. 10? B. 107 .
L DX __ . Y-169=2
ol w | A.:t-‘f?(lﬁ)
o3 t-J%_ﬁ(l.tzi)
B. +3 DR e
D. 1

' 14’—: a7 Rgfere -3 et wor
Al B.2
C.-2 D. -1




)21 (252)

45. [x — 5| - 2x > 4 ST Dy 20 R, (-2, —2) @@ (a, b) ReewEs T @R
Ax<=<9 B.x>-9 S Fafdess T, (a, b) /¥ E x-wrwy Tow Wik
[ T - D.x>1/3 mm“,
A2 B.1
C.13 D.3

46 IfH tanA + secA = x T O sinA mnm
2 2
AXH.omEal @i (B

_ e | . 2+1 x2+1

47. cotx—cot2x=7

A. cosec x
C. cosec 2x .ﬁﬂlabedmwmwﬂedmdébadBIW,

Zabe=1?

= vgeoem o FéfR (1, 1), (0, 8), (4, 5) € (-3, 4)
T T SpEeR cRaen F07
A. 203 9z B. 30 af w3




mmww ﬁ'dﬁvm'm (H Umt)
farerra€ : 2020-2021 [Set Code - B]

01. T3 TS T4 "9 @« @'-

- W 3 AL AY - G |

.mwmm A |

A. w9 B. g7fx
C. wEg D. gsfa
T : FE @ S G -
o o - ) LS AT A - 7o |

® 7] Fgq 9 - Wed |
T ZA - E& |

A, fefes;

02. mrmn' AR e Fiy

B. et
D ﬂ‘ﬁim

..' "l ’!.3‘-..»—..-4 "'f!

ﬁ:ff’f

G

03, “Tvm, T ISR W A (Be” 7 MRS R
A. 39, 3 I BN Gwam 71 Tl
B. T#®, (3 I@W B2 5w 71 coip
C. 3=, w& T i Bfems 51 cone
D. T, (& 91 Bf¥7 fowem 71 Tty

M : BTSN AT BOTS 6 AY A
3N

05. o ML’ 77 WK - @W S T Fefer
A. Sfsswe 4= B. S=MTA HEH
C. wfyare sesd) D. sfe=wne e
T : T AT (PR AR S () T SR I

Which sentence is correct?
A. Have faith in God.

B. He broke faith with me.
C. Both

D. None

W Fmthm ﬁmma

have madeto somebady)
Ans : C.

m Did you ever “return“ the video? The
underlined/quoted word is -

A. verb B. adverb
C. noun D. adjective
Mgt : Structure : '+ subject + main verb +

mw-maﬁmmwmmm
<7 IR IS AR | ‘return’ WMMWmu A
Ans ; A.

| om, = T o e
=1 ceip”

Y
“afow, = IRT Bi7 fofRem
=t coi”

08. Write correct pronouns in the blank spaces.

O/& + S/S1 = SF/EE

W+ 9F =S
o+ WS = S

wish __ could go to the movie together.
“offedl = T Ga1E FEEe | Cofed @ o 2R A. T, we B. We, we
T et faea | C. We, all D. I, all
“fafer TR W = @iee | “Fafer o am @e e TN : Structure :
~faree o weg xae " | e o e 22w (;)Sub+wxsh+sub+cmﬂd+vabﬂhaseﬁxm
Ans: C,
04. ﬁmwﬁﬁﬁwmmﬁr . . ﬁﬁasﬁﬁwm-ﬁ
A. B. 799 Er. Imshlomﬂdgothﬂ'e.
C. ety D. F7F 1 wish I were a king.
AT TR Bfber o e s - _ 278 are W ‘A’ Af6F 1 Sentence B wd zvm - wm
foym Turgad T Y P OTATS (ATS AR’ |
@ + 9 = T Ans : A.

6/8 + /9 = SF/I{

Al + §= = 949+
o + 53 = 49S
o1 + =% = 1%

fRerer o s

& + TF = &6

ol + S = 4%
G + ] = S
W+W:W

Ans : C.

m Meaning of the phrase “Wing and a prayer”-
A. Hopeful but unlikely to succeed
B. Not hopeful but likely to succeed
C. Sure succeed
D. Not sure
M : On a wing and a prayer - 7% 26U M e
RN SEE Yol A ﬂ! W ﬂi T Qe W ®
== |
Idiom 5@ wd mmm Al
Ans: A,




[ indirect speech of : She said, “It’s cold”
A. She said that it was cold.
B. She said it to be cold.
C. She said that it is cold.
D. She said that it’s cold.
[T : Reporting verb, past tense @ 4= Reported
speech 5 change ¥#te 2@ | Reported speech © Present
Indefinite 4= Indirect ¥ 8 Past Indefinite tense
Fas T 1 O It’s cold “f=f¥s 2 It was cold T |
tA
11. Identify the correct passive form -
A. The window should be opened
B. Let the window be opened by you
C. Let the window be opened
D. The window must be opened
T : Option mﬁmwmw
zm&- Open the window. T Imper
Imperative sentence (¥ passive F4C t@im m
SRR subject + be + v3 @1 ﬂistrucmrewmw
Z@ ‘Let the window be opened’.
Anps: C.

H—The tree has been blown by the storm.
Choose the correct preposition.
A. up B. off C. out D. away
Mt : Blow away - & ¥9 (9T O I e e (A1) |
Blow up - RU%#s 33gR F= ® #|
Blow off - mm (ﬂMC"f) I
Blow out - St GT&Tl |
Ans : D. :
13. Which one of the following words is in singular form?
A.radius B.agenda C.oases D.formulae

Plural
Radii/Radiuses

Singular
Radius

Agendum
Oasis
Formula

Oases
Formulae

Ans : A.
Bengali meaning of the word “Pervade” is:
A. +fne zeT B. swwfere 31
C. T+ D. &vm@ 391
YN : Pervade - =faaye T2, e 3991, SFpec w40
(Infiltrate, Occupy, Diffuse, Penetrate, Interpenetrate)
Ans : A,
Antonym of the word ‘Impart’ is:
A. Give B. Take
C. Impulse D. Steep
T : Impart - (S w0, &1 91, T F4) |
Impart <3 ¥ e#%79 Synonym <% Antonym:
: Give, Donate, Bestow, Present, Convey.
Antmyms: Take, Accept, Receive, Bear, Carry.
Ans : B,

_llm

Agenda A ' |

M forsw ot e i 2afiey
A. afb @ = T cof = T
B. (W SR TS vt Sieria o g e |
C. 7% ™ SHTa ARTEL 4 = |
D. 3% 3™ A 8 ST I WA 1 |
T - TS S IR -
>, AR @ BT A CI0T BTA A |
xmmmmmﬂawmmmu
o, 1% #ifea Fewd A S e e M e A
AT (T AT PR | LS B (AT AFAIEH T AT |
8. 3= Bief wdifes 2w | ]
¢. RS SR T W B Al
b, AE BA 28f W
Ans: D. :
Fﬁﬁﬁkgmmm4mmﬂEM
Te1 3 m R e 4 TR @i eim R

IS TA?
A. 660 ] B. 680 J
C.7007 D.720]
g 1lmg oo Kk 8
I : B = —kA A s
5t T [ ]
AL st 32 661.5 1% 660
2 ‘ pe
Ans : A, P .
mmwmmmml 2T
TR TR (AT WA Ty
A. 1:42 B.1:2
C.1:4 D.2:1
AL Lifn) =(1)- i
gy YL R 2) 4
Ans : C.

[ 10000 kg ®om @3 A ToweRT TR TS
oA | g e Bests OO % 1000 ms™ | I0T (A0
=+ Q@ TP fAfe T Tt wre witede g fRed

g e A
A. 393 kgs™' B. 294 kgs
C. 195 kgs™ D. 396 kgs
1 (Am
YT MBI G, A= —| — |V—
L i M[m)" ¢
1 Am
= 2g= ——| — [x1000~
# 10000[ m) £
1

Am i
. —=30g=29% ;
7 g kgs

Ans : B.




Hl frosz e e
A. T3 fors @1 o fefenfe o am
B. 2t ot = 20 «ife=ife 3f% o
C. (T 98(S Auprfers e ag =1
D. 72 3 59
T : @ AT i e e FEfeE 2 o
o T faeres e SffEEm M 93 789 T @ | e
s Te fe 8 T wefere o
.mﬁmwmﬂ&nﬁqﬁmn

* TGS BaNI 38 T SuRaie 39 BE 316 % |
Ans: C.

Hl e gt gvgn R0 R wem weem P(1, 2,
-1), Q(=2, 1, 1) «x R(3, 1, -2) @4 P,Q @
R & 1T 3o Rew seres R feafbs smgm code
o 3@ | P @3 T Q (o3t W SSTHeR W F07

7% 7
1 1
C. — D. —
i 7%
AN - =T ETE = PQ__ -2+2-1 JEL

Ans : D.

22. fwsa o Af® Tme

A. @H HATE “EE WA —1<o<0.5

B. SR ¥R ST 0,34

C. =T SgHTS 79 mnda afgs

D. 57 =f5 Tz s
TYT : A FFATST AW ] (WS +0.5 #T€ T R
1 €6 <0.5 | wfeze gre3 sanda cwmm 9% T= 0.3

2T SIS HY s 2afEEy |
Ans: D,
(127)s = AR FHET 39 -
A. (75 B. (Fl)s
C. (5T D. (7B);s
T[T -
o T
+f + 4
001 010 111
= (127)s = (1010111),
: 0101 0111
l 18
5 7
2 (01010111), = (57)16
Ans: C.

24, g A™ o o B Rfdrire Tl o @3k § w1 e T
A. 3 o -6 4F B e
B. 126 o -t @ 26 B -1
C. 4% o -1 ¢ 3% -3
D. 6% o -4 s 2f6 B -3
et - RRE : A o 33He +4 Je+4,BYY
Ans: A,
it BT e TR GIR SAMLACHR T WIS S

e 2 sivr R 2o

A. ot B B. F#%s B

C. 24 B D. 93 Fa5tE
T : TS B -

b T e T A Q@A [ e i @9l
weiE 3l T T 7w 9 Ui e wenw qft pore
e R 31 T3 | AT AwEd S e 93 miers
Ans:B.

26. 9=t B Fwn o e aftwme @ 12° | wm
SR O e afemrs 1.64 T Rpfe @it vy

A. 7.04° B. 19.64°
C. 7.68° D. 0°
et : Rpfs 14,6 = A (u-1)
=12°(1.64- 1)
=7.68°
Ans : C, '

27. 40 cm W'mt; cm IFER 200 i =B Avmearen
S @dlTE 3 T2 (1 = 1).

A. 423 4 henry B. 312.4 henry

C. 502.4 henry D. 567.4 henry
[ :
Vot Xt S ENPA _ 1x(200)* x mx (4x107%)°

e 40x 1072
= 502.65 Henry.

Ans: C. ;

8 Q) alyz 93 o we T et B

R F3 T SR IS @Y IS TA?

A 240 B. 72 Q) C.48Q2 D.16Q2

W7VI=V2$A|L]=A2LQ

ATy 0l 5 -l
A,

mmﬁ.R=%’“

P i (i 0 i
Ry A L L

= R;=9R;=9x80Q=72Q
Ans : B.




TSP cd A

= T | wWee yRIBE =P @b Gy I v
fan femsre ==t oot | e PR 2 oot wede IR
e TIA! T | e A T G T o @
& 3f# e

A. 2.42 x 10* CJ wromifis 5ff8 wca

B. 1.21 x y10* CJ =fexfE 7 w2

C. 2.42 x 10° CJ nfexfe 8 w2z
D. 1.21 x 10* CJ ©rmifE 5 s

) =t o Bfere s s 600 K S B (U
1200 J ©11 szel 303 @2 300 K S s 600 J
©vt e #0F | O e Fsa ey
A. ereperdt B. Sersyirt
C. A ¢ BTeng D. (=168 7%

g oo -d
-2 b -3|RefmeEmat+b+c+d="
-8 3¢

31

29, <o wwce 220 VW'{UNWW T

J‘de =9
X

A. Inx [In(lnx) + 1|

C.In -1

B. Inx |In(Inx) - 1|
D. Inx JIn

X G NTE 2° O WG @A
B. a* a*(lna)?

A. a* a*

1 Q9 LAz 11!
=i g Wi ol RRvr=em

B fofre PR wee 4 efon oy
S Written (A Unit)
¢ AR Written (B + D Unit)
+ “E#f% Written (C Unit)




36. ABcR,B=%R- {%},gm—m,g(x)- X5 am 40, Mmﬁﬁw{«mw
3x+1 (1-x)’
2 - :
b=+ 199 = 2 e e e T

Acef=%-b5} Baef-n-) = T ates

- T e

X~ 7x + 12 = 0 FARTR P o, T o+ P @R
off 1 e Al &
A xX*-19x+84=0 B. x>+ 14x — 144=0
C.x*-14x+144=0 D.xX*+19x-84=0

. "P; =2 x "C, T n 97 ¥ ¥?
_Al4___ B.IS __ C.16 _ D.13

41, et Rt e ¥ 1—;““”"‘""“‘“

AXx+1=0 B.2x*-2x+1=0
C.x*+x+1=0 D. 2x*+ 2x + 1=0

n
39. [3+%J a7 e x” e x* @@ ot o I T 0

o F?
A. 60 B S65 1T TIEHSS FTFIRISON




C0827°—008 63° _

T T _ " c0827°+¢0s 63°
A. sin18°
Sl : C. coslg8®

. tan36° + tan9° + tan36°tan9° = ?
A0 B. -1
(o7 D. @b 71 |

A. tﬁz-(l:ti) B. :I::?;(l:l:i)
C.+(1£2i) D. +3(1+i)

. G RO % 25 = a + b + ¢ T b cos’ A2 + ac
cos’ B/2=?
: B s ey S AR o e A.abcos’C/2  B.abccos’C/2
44. 3.1787878... w2 | _C.s-abcos’C2 D. 5 — ab cos’ C/2
B. W C. o A D. @b m TN : I fags ABC &7 o, ;

T

45. |2x - 7| > 5 SPreits Y @Fb?
A x<l1 B.x>6
C.x>69@x<l D.x>649xx<1 . AT B TR @ (8, 5) = I

A X+yY+16x+12y=96
B.X’+y — 16x - 12y =-96
C.X°+y + 16x+ 12y=-96

46 wﬁm+m-5uwm«nmwr
24 D %45

: . +y‘uﬁx—2J§y+3=nmmmw;
A (33) B. (3,3)
. B (3)




), (z,l)ﬂ!:!w-lx 3y+5 0 G vV g 907 57. qhﬁthmﬂwsm md&mw
A4 B.1 WIPISIT PR | i 7 fhedt T oreTt I WG @R
_C.3 _ D. 2 MR 30° w1t 1pre | 37 e ot ¥ R/, e
O (x),y) PR @@ ax + by +c=0 @R EY | A5 B. 15 C.10  D.20

53. (-4 < x < 2) (% *REN e TOH e TN o
oS

A jx+1/<3 B.x+1|<1
C.lx+1/<5 D. x+ 1l

4, 2x+y—8 Oex+3y+4=0mw“ﬁﬁm
Beotg Far
A, 30° B. 35"
C. 45° - D. 60°

.. - L .._--. _--a, _-_.-
R R WA 14/45 ax 2P Rewm awn wabe
AR TR 4/5 T, SR BEGITS AT T IS

4 7 3

. A= B. — C. = D. @uafE
7 9 7




mﬁwn ﬁ-wﬁmm (H Unit)
farerag : 2020-2021 [Set Code - C]

01. 5 @3 % Rusew-

A F@+99 B.a+9q C.7a2+9 D.¥+69

YT : 0 WA Gjd e o S/ R A
Ton e Sy @
T 2 (7 + O = T, O+ I = qEE |

Ans : A,

02. “q, &" == |
A, FFeE) | B. ¥ |@f
C. =Ry |@f D, 7 wfH

TN : @R & I Ffety ol
°q, & - FHEE @M | o g, @ - T @A |
o @ & - AP TRA I eg s, - ol ad

T, T - SrewEe @fe |

Ans: A.
HFF SRS @AD?
A. 2% = o7 5w B. S = e w9
C. afese = &t o D. [zl = TR WSk

[ : "R SHAE O A A SOEEL. 4
SI¢T UNF, SIS IS T T |

TS FAH (FIe A NG GrEE’ 9 5w |
T : T WEq = (G204 |

TF AN = WRF |
T3 e = wrEe |
Ans : D.
m ‘rerEE et 3867 afbwet
A. 9T @ SR T B. ifewmiz s15m
C. SRR W D. S AIRFFR Gl
YT : TG RGP T FTES IO O ¢
T SR TN |

e TfEgmieas grevRemE o |

AT T | Shby |

2N AETS e TR A5 | T4 S
g S94d FIEE Y& I6 W32 AN G2 quEe

592 forma |
Ans : C.
W o < comfor
A, 7S] WS (@F B. % emife &%
C. @] &a1d (XS D. 7%; guF &
AN : IS IR W& & WG
g %G
] NS CZTF | ] Uil C2i |
01 FTEmTFa A7 | G5 FET AR |
WSS oo 78 | w5 (e wife 72 |
4 VR AR | 74 T e |
Ans : A,

: 2020-2021 (261)

T Direct speech @ 3 Reported speech, Past
continuous tense ¥, 3 Indirect $29 7% Past perfect
continuous tense @ A% IS A |

wdie- subject + had been + v(ing) + .....

Ans : A |

If you study __ from now on, you just might

pass your algebra class.

A. Wing and a prayer B. Pushing the envelope

C. Dead ringer D. Balls to the wall

Mgt : Balls to the wall (adverb) - 415 (581 341 |

Ans : D,

08. Write correct pronouns in the blank space.
Jazmin took ___ children with __ when ___ went
to the mall. :

A. herself, her, her B. her, herself, she
C. her, her, she D. herself, herself, she
T[T : (i) Possessive pronoun + noun
(ii) Preposition + objective pronoun
(iii) Subjective pronoun + verb = |
«% feafs Fam st Answer 203 her, her, she.
Ans : C.

He ‘completely’ forgot about the video? The

underlined word is:

A. verb B. pronoun
C. adverb D. adjective
e

Structure: Subject + adverb + verb + abject + extension.
*Completely’ word & subject 932 main verb @a T3
% aft Adverb &3 |

Anms : C.
m The task was imposed ___ him.
A. upon B. over C. at D. on

4t : Impose on - (F/FIAG) ST 41, BIATA |
CI% : A new tax imposed on cigarettes/car.

Ans : D.
m Synonym of the word ‘Explore’ is:
A. Entangle B. Exchange
C. Examine D. Endeavours

it : Explore - Swasst @41, favase @@, S @40 |
Explore <7 g w#%94 Synonym <3 Antonym:
Synonyms : Pursuer, Search, Research, Investigate,
Query, Inquire, Test, Try, Examine.
Antonyms : Repel, Obviate, Avert, Prevent,
J Alleviate, Eject, Delete, Shun, Funk.

Ans : C,

Complete the sentence: If I were you, I ___ take
the memory,
A. shall B. will C.may D. would

m Indirect speech of - She said, “I was teaching earlier”.
A. She said that she had been teaching earlier.
B. She said that she has been teaching earlier.
C. She said that she is been teaching earlier.
D. She said that she was been teaching earlier.

7r4t: 2nd Conditional sentence 9% G-

If + subject + past tense, Subject + would/should/
could/might + v; + Extension...

— If [ were you, I would take thc memory.

Ans : D.




R B I S I e S SRS | | Rt it

13. ‘Gitanjali’ of Rabindranath Tagore was translated by -
A. Robert Frost B. John Keats
C. Rudyard Kipling D. W, B. Yeats
I : F;HEAR e 'Gitanjali' Falene wHAW @
W.B. Yeats (William Butler Yeats) | f5f 3ere smarez
it e | et Fre? @ 3@ wgem s WL B.
Yeats ferem fet reten Ao avew wwew swged
Wiz R, AT 9 AT ey | R S o
FEASTIS 42 (R Wafere! Fieaba e Wity s aew |
| Ans : D.
14. The correct spelling is -
A. Humorous B. Humorious
" C. Humourius D. Humurious
FIm01: Correctly spelled word : Humorous - 9,
crEfe, oA |
Some Important Correct Spellings: _
Hammer, Harass, Homogeneous, Heinous, Height,
Hoarse, Honorarium, Hygienic, Hypocrite etc.
Ans: A. i

opposite to each other.
A. Related : halt B. Block : obstruct
C. Drag : Procrastinate  D. Detain : dispatch
M : Detain - W6 371, AEHRA 1 |
Dispatch - & ¢, Giegeae |
Detain 43 fa#frs w1 Dispatch 1
Related - 7if¥s, s |
Halt - vrem, fasma o |
Block - 141, w1 |
Obstruct - IS 1, GBI |
Drag - wpRe 321, 5o == |
Procrastinate - 5fg=f &1, et = |

Ans: D.
M = A --Bzw, okt A xB @@ ww wer
A, —A B. C’-B*" D.o
TN : AxB = RABsinl80° [ A = -BwdR, 0= 180°]
=0 :
Ans : D,

30° ctest ceret Tt | G AN Ty
A, gnasE B. &rsiet
C. 7affis Bwe D. FaewEi

A « efrwsier M, R=M
g

_ N sin@x60%) _v,' 3
e g BB
_Yo'sin@x30%) _vy® V3
2 g e
wdle, 9FE S Y EE @R (@0 WA ©EE A 60°

8 30° (@I (RG] Z0F AR ) 7 303 |
Ans: B.

¥ Rm

@ Ry,

Select the ‘pair of words’ whose meaning is

17. 3R &7 4t W3 GIR (O WG SR A 60° ¢

2020-2021 (262)

[ «=® Sreares Moo Bwei 375 m | #om 10 kg o5&
w3fs FwoR AoT Wm0 | Gre 9y W 40 7S
o1 Afon s s com fer | B e e e
AT | TR F IT Twenm wht Aoy =
sife=feen faedt zmr
A.320m
C. 750 m

W:M:Zxﬂﬁﬂ%ﬁmgx=2x%mvz

= mgx =m(2g(h — x))
=>x=2h-2x

B. 170 m
D. 250 m

h

A b 8o

W | b

% x375=250m

wdle, B (% x = 250 m Swewm ;WHr FAoiE 97
sifewfEe Red 22 |
Ans: D.

19. & 9 (g, =9.8ms™) @ vivrr WG wPs

o | W 58 B (g, =1.6ms ) cTn T RF yra
1 h 7 55 o5 S T2

g g 16, c.\/ﬁh Rt ¥
_ 1.6 9.8 1.6 9.8
YT
T V& Jg; _\JLG Vis
Ans: C. -

SI @33 “friFs W e = iRt W
2

Maﬁﬂng—z’iwzx:o ™, A TN
T

1o S
A.4rads™ B.8rads™ .
C.l16rads™ D.32rads”
T[T : FEE BAS HEETS FOE
dzx 2 .
—+0x=0.....(1)
dt?

2 2
as, 2%+32x=0=>§;;+16x= 0 @ (i) @3
t L
o I MR- @ = 16
s o=4rads™

LAns: A,
21. 250 Hz, 350 Hz, 450 Hz, 550 Hz, 650 Hz, 750 Hz

a8 G I T G g % ey v fsw

B IS R o JEE W
A. 400 Hz B. 550 Hz
C. 450 Hz D. 500 Hz

PN : B : TR INE P G IACEA Mo XA
SItE Ao T 9 GBS A |

wdie, 500 Hz 73 19 a2 wEs 53|

Ans : D.




LS VR et | Y

2020-2021 (263)

B e R ey
A. FESTE IRTSTA GEATH A0 @ AT
B. TR0 IS W A W AN
C, T Siema @ 4
D. e Siemm@l @@ 4
[ : TARES S TSR AR worE (C) wfes
aemary | IRt e e 4w g Sl mm
e 3 o
Ans : C.
Frbaye wafb ffFreta g o wies wite | g sicet @i
8w 600 J orME e Faw Boby 3¢ e
Firer «fFe e 900 J | e Eb W
A. TEEaE =fE > =0
B. Twi+aa S5m0 “fEa Feamee Aife #fes g3 |
C. Tiioirea woa1bre =feq eamweria fifel =ftas =g = |
D.AsB

26. 4f5 3 A ¢ B @7 TIR AT Wi edre 3 R
A Feite e et 0.05 s -4 1 Amp % %
(W 8 Amp = | IR ARGt 400 | B v wifyE
sewes % T

A. 420 volt B. 480 volt C. 220 volt D. 110 volt
o E=-ME = - 3% 878 o vt
dt 0.05
Ans: A.

27. a6 Fsw toft B o ey o IwOR YR
T | Few e 1.5, emiba e g 15 cm |
eibe IR TAE Fo?

A. 18 cm B. 15 cm C.12cm D. 10cm
/YT : 1.5 AfewEn S e $=9 00 IweR IF
T T TS AP & TR G I LA |
wdfte, TR FAE, r = Fie A g, £= 15 cm
Ans : B. :

Y1 : TEAr =&, dU = dQ — dW = 600 — 900=—300J
@@y, dQ = dU + dW oieg Tarvicas whbre «fex
HEHAE NS ATS ZH ] | |

Ans : C.

24. R b SR qE (WG e A1 WIE | @3 (SR
v R aeR e | o 9t cifter g I G
TSI (SIS S ATy T g7 tof 3=m | Ffae T,
ASYT (TEEAT TN T 71 @ b w@Fy
TR W TR T | AR YRS AT IS YA

T e el #Be o
A. d=d,/2 B. d,=d,/2
C. d,=d,/3 D. d=d,/3
W=C1=C3=$‘ Gg kA] =EokA2 =E&kx3._Al
d, d, d,
d,
d1=3d1=>d|=—3""
m C; Cz=§ Eu kAI ﬁo nz 280 k’stI
d, d d,
d
d;=3d2 =d =—§-
e W=7 (A) 6 (B) @3 0 419 563 T AR &3 AT |
Ans: A & B.

25. 15 m @3 20 m eR vt Siem 1y fAw e 5 A 93
7 A e 21T 5UTE | SREER TYI @G 4 cm T G
% filbR tivef 3t o= tivdR fomt e Tom TR T

A. 2.75x10°Nm™! B. 1.67x10°Nm™
C. 1.75x10°Nm! D. 2.67x10°Nm™
F _ plil
L R g o i
¢ 2nar
-7
M 175x10-5 Nm™!
2ax4x10™
Ans : 7% |

ﬁmmmmﬂuﬁm N T

A. =i g B @i afy

C. waifgs af4 D. w@fee sa%
[T : SeAea we-
(i) forem o a1 fema TP 4@ cofb =re @@ | et AR
SIHLATE AU A T |
g@mw crFE A R A R S we R

Eie o] :

Ein]
s
o @G

5x10"m
38x10"-5%x10" m
SRS | 75x 10 —1x10" m
@&s &% | >1m
.mmmmm @
LAns : D.
29. «3qe @Afew 2500 T coufin Rt Femed 3@ @@
TR AR @ | G ST 7 @b
A. —2500In (1/3) B. 2500 In (1/3)
C. - 1/2500 In (1/3) D. 1/2500 In (1/3)

[T : N =Noe“"‘=:>£
N,

o _;m[l)
2500 (3

Ans : C.
Fvsn vt 7€ 3 b g

=] >

A.NAND B.OR C. AND D.NOR
T[T : 4

B _A+B ) A+B.A+B=Y

Y=(A+B).(A+B)=A+B=A.B
WrEG95H NOR - (13057 Weooha 7e | wde, wiere aEiM
NOR - (5157 Fage1 |
| Ans : D.

=e M= 1 =e™ :ﬁln[l]=—i\:
3 5




Kl t an weifisre di{\a‘?+-9)='?wt=lﬁ
t

A.1/6 B. 1/8
C.1/9 D. 1/3

d 1
It — WVt +9)= ——
i o

ot ol 8

Ans : B.

KN c-@ TR Fe T y = ox (1 + x) I 1 e o
i x -STHR TR 30° Teoy A
K, ot g vl ol el s H1

3 V3 V2 V2

132 J.3sin3xdx
4 .
TR R

C. i[quust] D. %[X+COSZXJ

W:Ihinzxdx " %IZsinzxdx
3 :
= 2j(l—ccnst)ttlJﬂ:

= E(x—lsin2x)+ C
2 2

8

i

8

hls 62— (14 e 2
W=I—-—"—£dx= _-(-—tﬂdx=j(——~—l)dx

01+x 4 1+x B 1+x

= [2mm(14 %) -x}, = (2In2 -"1) —(@2n1-0)

=lnd4-lne= lni
e

Ans : B.

X &R ﬁ SINX+COosX a2 m?
1+sin2x
A -1 B.0
'] D. #i=12 77

. i['sian:ost
dx

= L

8in X +cos X J

sin? x+cos2 X + 25in X CoS X

W:y=cx(1+x)=cx+cxz=> j—i-=c+2cx

d—y=c+2a:-.. :>tan30°'*~fc=:>c=--l—-
(0,0)ﬁw.dx 0 =
Ans : B.
36. f(x)=In (1 + 2x) FFD7 e Fo?
A .Qda=R

B.@g={yeR:y<2}
Caa={yeR:y=>2} D.aa= {yeR:y<l}

N1+ f(x) = In(1 + 2%)

@A, 1 +2x> 0 =>x > -—;—

rmm: X >—%=(—l,w]

A 3
R, y=In(l +2x) = 1 +2x=¢"
. @e=R

Ans : A,

37. wRfePs Ruete ¥ G ARTICLE *7 Saaefies
TS S A T
A. 676 B.576  C.776 _D.570
1t : ARTICLE *=ioe 7% 2 3% 7= aae 4% emmd
s | TEIderEE 4 Rrele g 94w (b AeiEE e
=9C; x 31 X *Cy x 41 =576

Ans : B.

38. LOGARITHMS *=fb7 3fef® e e sremmef s
72 e v av IR’ T T
A. 105 B. 100 C. 110 D. 115

T : LOGARITHMS *f6a 10/ atef 3% waaf az: 7%
qEIS T | :

. 3B e a3 2 ead AeREE Bom
="Cy %36, =35x3=105
Ans: A.
8
39 [x“—%] 7 Rgfere x'! -« ot T
o

A. 46 B. -56 C.56 D. —46

KR dimrdess Ax8-11__
4-(=3) _

~oxVar e =0CL(1)° T (=1)’ =56
Ans : B.
40. (1-x+x*)" = fRgfers x" -aa 7ot Fe7

| B. 1 C.2 D. -2

TG : (1 —x+x) " ={l —(x—x)}"
=1+Ex-x)+ @ =P+ .+ x=x)+ ...
LxPgeam=x'

gde x” gzwmi= 1

Ans : B.




e

44.

S SN TEr

o 7

R E = — m

9

A.p<— B. p>— C. p(i D p>— ’

B e

- J‘;mmwm
AT R ey o
3 3 2

43, x+ivl—x® ot oo i Dy

A. ﬂ:%(ﬁ—iﬂ)

" B. :t:—(1+x)

;3
1:72-:( II—x:i 1+x) ‘

1 1
i(ﬂm)

2+3i

R0 A, 41.'5. B. 8/3 C. 8/5

IG <

: =P+iQ; P,QIWIRUI TN Q = ?

D.7/5

45. A TGRS = {0, 1, 2, 3, 4, 5} CHBORT M
s vy St meT A -
AGS: BlS. @35 D-1-5

46. sin® A + sin' A = 1 T 3 oD
" Ata’A+tan*A=1 B.tan’A-tan’A=1
C. tan’A +tan” A= | 5 an’ A = |

J sin{Cn+)n+aj=2
A."'Sil‘.‘lu ' = \B'B‘ing i
C. sin /2 x D. cos o

49. A+B+C = nqcos’ A +cos’B +cos’ C=2
A. 1+ 2 cosA cosB cosC  B. 1 + cosA cosB cosC
C. | — cosA cosB cosC D. I — 2cosA cosB cosC

30, m”.ymmzusmmm
e e R TRy

Ay=2x-4=0 Biy+2x-4=0

Yy—2x+4=0 D.yt2x+4=0




51. ab © cd G HAMA COF A 0 G 25 = 3LV T, Ly
7 I S el T3

L b

C.A0P  phset!

52. @ ABCD @ob 7%1 W0 #9@ O Rowe aw @
Z0OAB =50°¢ ZABO = x° &, %3 x «@ T ¥ Tt} gy

A, 11°19'

_B. 11°20'

54, fiemm W o4 19.5 m/sec cwrvtquaﬁh‘

5 sec A A5 1o iR twet 3w
A . 18m B.10m
C.25m D.40m

55. =% 2 o7 = X 3w vl Y o e =
T, Wy Tt centioy fesw G e ot =t ety
A XsYm mam

B.XeY¥nzw
C. X e Y 99 ie? =@
D. X8 Y @I'g® T3

56. Mmmﬂmmmllmmw
/6 1/36 1/12  D.1/24

gt T GRS 501 6 m/s mmm:mwﬁn
TS I[S W 6 m/s AT T @q RISt 42
TS A% T ¥ 50 fig o | 31l b 450 v
Y Weww F9 T 7 ¥ 397

A. 10 sec

B.12sec  C.15sec D. 20 sec

58. 2i+]—2k GRIRRE 51 —3 |+ 2k TSR SR T I T
A %(2E+3-12) B, %(2i+j-2§)

C. %(zh'j—zf;) " b, 20i+j-b)

. 1 9 20 68 TeiRe wedeT (I 93t e ¢
T erifs 3 o 5 o ofies @R WA FEr

L B2 2 )

2 e 20

Ul it Reqre 2 o1 120° creet famre | 3@ e wW
10 %0 ax oo 7% FEeT I e I Teoly
AT TGS T T FS?

B. 2.5 %5+ C. 5% D, 5.5 At

- AI 2 - —




